Subtracting

Write the answer in the box.

Doris had 40 marbles but then lost 17 in a game. 2%
How many marbles does Doris have left?

Write the answer in the box.

I have 35 jelly beans. Then I eat
12. How many are left?

Two numbers add up to 30. One
of the numbers is 18. What is the
other number!

A piece of wood is 60 inches long.
A section 28 inches long is cut
off. How long is the remaining
piece of wood? | ~_
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Two numbers add up to 80. One
of the numbers is 45. What is the
other number?

A class has 33 children. 15 of the
class are boys. How many of the
class are girls?

Out of 46 squirrels, 38 are gray
and the rest are red. How many
squirrels are red?

- .

What is 56 less than 100?

A bag contains 60 cherries. 12 of
the cherries are rotten. How
many cherries are not rotten?

Two numbers total 65. One of
the numbers is 32. What is the
other number?

A number added to 15 makes a
total of 40. What number has
been added?

Mary goes shopping with $5.00.
She spends $1.80. How much
does Mary have left?

Dick goes shopping with $5.00.
He returns home with $1.30.
How much has Dick spent?

The sum of two numbers is 80.
One of the numbers is 43. What

is the other number?

A child has 50¢ to spend. She
gives 24¢ to a friend. How much
does she have left?



